824

M “F5” Series Pipe Flange Kits

The dimensions of the flange mounting surface are based
upon SAE 4 Bolt Split Flange (Standard Pressure Series).

B Specifications
® Max. Operating Pressure

Maximum operation pressure varies with the type of pipe
connection or flange size. Refer to the applicable

installation drawings.

Threaded Connection Socket Welding
B Model Number Designation
F- F5 -06 -A -10 ! *
Material of Seal Series Number Flange Size Type of Pipe Connection Design Number | Design Standards”
04W, 04, 06X
06, 08, 08W,10 ' None:
12,16, 16W, 20 | Japanese Standard "JIS"
24, 28, 32
None: 04, 06, 08 i
Stgr?deard NBR A: Threaded Connection 10 | 80:
(Buna N) Seal 10,12,16 i European Design Standard
20 |
04W, 04, 06
08,10, 12  30:
o i N. American Design Standard
16, 16W, 20 1
24,28, 32 |
F5 04W, 04, 06X i
Fovt (vi 06, 08, 08W,10  None:
FPM (Viton) Seal D ’ | Japanese Standard "JIS" &
(For Synthetic 12,16, 16W, 20 ! European Design Standard
Fluids) 24,28, 32 i
B: Socket Welding 10 3
04W, 04, 06 !
08,10, 12 - 90:
16, 16W, 20,24 i N. American Design Standard
28, 32
! None:
04, 06, 08 i Japanese Standard "JIS" &
10,12, 16 C: Butt Welding 10 : European Design Standard
20 1 90:
i N. American Design Standard

s Three different design standards are available as shown below. Select the suitable design standard to your requirement.

Type of Pipe Design Pipe Mounting Bolt
Connection Standard Thread (Socket Head Cap Screw)
Japanese Standard "JIS" Re Metric Thd.
Threaded Connection European Design Standard BSPF Metric Thd.
N. American Design Standard NPT Unified Thd.
Japanese Standard "JIS" & .
Pipe Socket Welding El?ropea.n Design Standard o Metric Thd.
Butt Welding
N. American Design Standard — Unified Thd.

“F5” Series Pipe Flange Kits




ACCESSORIES

M Threaded Connection
Japanese Standard "JIS" : F5-%-A-10
N. American Design Standard : F5-%-A-1090
Customer’s
"J" Dia. Through e Mounting Surface
4 Places _"C"Thd. g
) K
Surface should have
F a good machined finished.
/( O-Ring
pan) —
SIRe / |
: giz/z/ﬁ
w I o _
1 A
i H 77777
1 M —— z
(N E—
/ Soc. Hd Cap Screw L
(4 Pcs.)
*2
= Max. ) Recgmmer}ded
Kit Piping Dimensions mm (Inches) Socket Head Operating| Approx. Tightening
b Size Cap Screw O-Ring Pressure | Mass Torque
Numbers "C" Thd. (4 Pcs.) MPa | kg (Ibs.) |(Tolerance £10%)
D | E F H | J|K|L|N (PSD) Nm (IN.Ibs.)

F5-04W-A-10 Re 3/8 !

0 M8 x 40 Lg.
(:39)

F5-04-A-10 Re 172
40 | 54 | 175 | 38.1 | 8.8 | 30 13 SONB_P22 28 0.5 35
1.57) (2.13) | (. 1. 346)((1.1 51 4 1.1 1

F5-04W-A-1090| 3/ NpT | (7)) (2:13)](689)](1.500)[(-346)(1.18) s (51 4060) | (1. (310)

5% 5/16-18UNC x 1-3/4 Lg.

F5-04-A-1090 | 1/2NPT ’

3.8 35

F5-06X-A-10 s (346) s M8 x 45 Lg. 310)

C
48 | 65 | 222 | 476 30 [(:59) 19 28 0.7
F5-06-A-10 (1.89)] (2.56) | (874) [(1.874)| 11 (1.18)] | (.75) MI0x45Le. SONB-G30 1 4060 | (1'5) 68.5
433 606

F5-06-A-1090 | 3/4 NPT (433) (1‘5"75) 3/8-16UNC x 1-3/4 Lg. (606)

F5-08W-A-10 Re 3/4 s
55 | 70 | 262 | 524 | 11 | 30 (4159) 26 MIOx45Le. 28 0.9 68.5

F5-08-A-10 Rel 1017) 2.76) [(1.031)2.063)|(433)(1.18)]  |(1:02) SO-NB-G35 | 4060) | (2.0) (606)

F5-08-A-1090 | NPT (1.‘5"75) 3/8-16UNC x 1-3/4 Lg.

11 17
F5-10-A-1 Re 1-1/4 MI0x 55 Lg.
3-10-A-10 N 64 | 80 | 302 | 587 |(433)] 38 |(67)] 32 o8 SONB.G4o | 28 1.2 68.5
(2.52) (3.15) |(1.189)[(2.31 D[ 12 |(1.50)[19.2|(1.26) -NB- (4060) | (2.6) (606)
F5-10-A-1090 | 1-1/4 NPT 7/16-14UNC x 2-1/4 Lg.
(472) (.76)
17
F5-12-A-10 Rc 1-172 MI2x55Lg.
N 72 | 94 | 357|699 |135] 38 |(.67) 38 o E SONB-GS0 21 15 118
2.83)| (3.70) |(1.406)|(2.752)|(.531)|(1.50 1.50 3050 33 1044
F5-12-A-1000 | 1-1/2 NpT [ 283 370 [(1.406)2.752)(.331)( )(1262)( )| 12-13UNC x 2-1/4 Lg. (3050) | 3.3 (1044)
48 21 1.8
F5-16W-A-10 | Rc1-1/2 17 (189) SO-NB-G60 | (3050, | (40)
(67| 51 MI2>x55Le. 175 1.7
F5-16-A-1 Rc2 NB- . .
>-16-A-10 N 85 | 102 | 42.9 | 77.8 |13.5| 38 2.01) SO-NB-G6S | 9540) | (38) 118
3.35)[ (4.02) |(1.689)|(3.063)|(.531)[(1.50 1044
F5-16W-A-1000| 1-1/2 NpT O3] (4:02) [(1.689)|3.063)[(.531((1.50) 10n (1459) SO-NB-G60 (3%0) (}‘-g) (1044)
(_36) S| V213UNCx2-1/4 Lg. s -
F5-16-A-1090 2 NPT (201 SO-NB-G65 | »3in) | (338)
17
F5-20-A-10 Rc 2-172 MI2x 65 Lg.
¢ 102 | 114 | 50.8 | 88.9 |13.5| 48 |(67)| 63 xo e SONB.GTS | 175 | 20 118
4.02)| (4.49) (2.000)|(3.500)|(.531)|(1.89 2.48 2540 4.4 1044
F5-20-A-1090 | 2-1/2 NpT |(+0%) (4:49) |(2.000)/(3.500) (.33 1)I(1.89) (Zég‘)( | 12-13UNC < 2:3/4 L. (2540) | @4 (1044)
17
F5-24-A-10 Re 3 M16 x 70 Lg. I
¢ 116 | 135 | 61.9 | 106.4 (67| 76 e SO.NB.GS5 2.7
(4.57) (531) |(2.437)|(4.189) 19.2((2.99) (6.0)

F5-24-A-1090 3 NPT (76) 5/8-11UNC x 2-3/4 Lg.

F5-28-A-10 Re 3-172 17 MI6x 70 L, »
134 | 153 | 69.9 | 120.7 1678.3 2539 (.67)| gg & SONB.GLoo | 33 34 287 o
5.28)| (6.02) [(2.752)|(4.752)|(. . 3.46 510 75 2540 =

F5.28-A-1000 | 3-172 NpT [028) (602) (2.752)|(4.752)(689)( )(1362)( | sm-11UNCx2¥4Le 10 | (75 (2540) S

(7]
17
32-A- Mi Lg. n

F5-32-A-10 Red 1is0| 162 | 77.8 | 1302 67| 101 6x70Le SONB.GL1S 3.7 @
5.91)| (6.38) [(3.068)|(5.126 3.98 8.2

F5-32-A-1000 | anpr |00 (038 (B068)(5.126) (12'62)( ) 5/8-11UNC x 2-3/4 Lg. @2 o

. <

% 1. Approx. mass is the value including socket head cap screws (4 Pcs.).

% 2. The values of recommended tightening torque are for socket head cap screws and apply to when these flanges are used for pressure line.

“F5” Series Pipe Flange Kits 825



M Threaded Connection

European Design Standard

F5-%-A-1180
"J" Dia. Through nEn ’
"K"C bore "P" Deep C" Thd. Cus'tomer S
4 Places Mounting Surface
D L K
F 0.3-0.5mm | Q Q
‘ ‘ (.01-.02 IN.) X Surface should have a
_O-Ring. good machine finish.
g 0
" = 1 i s V7
= o,
s T =5 S a
: (—— = [N I
= N ‘ o [
/ Socket Head Cap Screw =] LN> o
(4 Pcs.)
Piping Size: Piping Size:
1/2 to 1-1/2 2&2-1/2
o Max. |, rox*
Kit Piping Dimensions mm (Inches) Socket Head Operating E/Fass.
Size Cap Screw O-Ring | Pressure
Numbers "C" Thd (4 Pcs.) MPa kg
“Ibp|E| F | H|J|K|L|N|[P|Q]|S : @sp | (bs)
40 | 59 | 175 | 38.1 | 88 | 14| 31 |12:6] 86 17 | 15 28 0.5
F5-04-A-10801 122 BSPE |} '57) 5 32| (.689) |(1.500)|(.346) (.55 (1.22) (.50 |(.34)| (67) | (59) | M8 * 33 L& |SONB-P22} 560, | (171
48 | 72 | 222 | 476 | 11 [175] 31 [148/108] 20 | 19 28 0.7
F5-06-A-1080| 3/4 BSPF || g9)\2.83)| (:874) |(1.874)((433)((.69)|(1.22)|(.58)| (43)| (79) | (.75) [M10 % 33 LgSO-NB-G301 560, | (1’5
ss | 77 | 262 | 524 | 11 [175) 31 [14.8/108] 21 | 25 28 0.9
F5-08-A-10801 1 BSPE 5 17)/3.03)((1.031)((2.063)|(433) (.69 (1.22)|(:58)|(:43)| (83) | (.98) M10 x 35 L& SO-NB-G3S - 4560) | (2.0
64 | 83 | 302|587 | 11 [17.5] 39 [168/108] 22 | 32 28 12
F5-10-A-1080/1-1/4 BSPF| 5 55)(3.27)((1.189)|(2.311)|(.433) (.69) |(1.54) (.66)|(:43) | (87) |(1.26) M10 45 L& SO-NB-G30 4560) | (2.6
72 | 99 [ 357 ] 699 |135] 21 | 41 [175]135] 22 | 38 21 1.6
F5-12-A-1080/1-1/2 BSPF | 5 ¢33 90)|(1.406)|(2.752)|(.531)|(.83)|(1.61)| .69)|(.53)| (87) |(1.50) M2 * 43 L& SO-NB-G30| 3555 | (35
85 | 107 | 429 | 77.8 |13.5] 21 | 41 |17.5]135| 31 | 50 175 | 18
F5-16-A-1080) 2BSPE .3 35,4 21)/(1.689)((3.063)|(.531)|(.83) (1.6 1)|(.69)|(.53)|(1.22)|(1.97) M2 x 45 L& SO-NB-GO5| 540y | (4.0
102 | 118 | 508 | 889 | 13.5] 21 | 46 |17.5/135] 31 | &3 175 | 19
F5-20-A-1080|2-1/2 BSPF| 4 53] 4 65)/(2.000)/(3.500)|(.531)|(:83) [(1.81)|(.69)|(.33) |(1.22)|(2.48) M12 ¥ SO Lg|SO-NB-GT5 554y | (42

s Approx. mass is the value including socket head cap screws (4 Pcs.).

® Recommended Tightening Torque
For Socket Head Cap Screw

. Tightening Torque

Kit Numbers
Recommendation Nm (IN.1bs.)| Tolerance

F5-04-A-1080 35 (310)
F5-06-A-1080
F5-08-A-1080 68.5 (606)
F5-10-A-1080 +10%
F5-12-A-1080
F5-16-A-1080 118 (1044)
F5-20-A-1080

Note: The values of tightening torque above apply to when
these flanges are used for pressure line.

826 “F5” Series Pipe Flange Kits



ACCESSORIES

M Socket Welding ®Recommended Tightening Torque
Japanese Standard "JIS" & For Socket Head Cap Screw
European Design Standard : F5- %-B-10 Mgt Towgue
. . Kit Numbers 8
N. American Design Standard : F5- %-B-1090 Reg‘r’nm(‘;gnl‘i‘;‘;"“ Tolerance
"J" Di Customer’s F5-04W-B
J" Dia. Through M ¢ F5-04-B 35 (310)
4 Places ounting F5-06X-B
D K Surface F5-06-B
Q Surface should have F5-08W-B 68.5 (660)
] a good machined finish. F5-03-B
O-Ring F5-10-B
SN < — F5-12-B £10%
N _ ; F5-16W-B
SN d %
P g ks Fo 0B 118 (1044)
wl T a & F5-20-B
z a F5-24-B
: | V4 n F5-28-B 287 (2540)
{ — ) F5-32-B
L ‘ Note: The values of tightening torque above
Socket Head Cap Screw ] apply to when these flanges are used for
(4 Pes.) pressure line.
Piping Dimensions mm (Inches) Socket Head Ol\é[raa):in Approx”
Kit Numbers Size Cap Screw O-Ring FF')r essurg Mass
D | E | F H|J | K | L |N Q | s (4 Pcs.) MPa(ps1)| kg (Ibs.)
10
RESASAT IO 3978 | o | | Mo dote
F5-04W-B-1090 145 | (70 (35) 5/16-18UNC x 1-3/4 Lg.
40 | 54 | 175|381 | 88 | 30 | (57 13 SO-NB-P2 28 0.5
(1.57) | (2.13) | (.689) |(1.500)| (.346) | (1.18) [ 10 (51) (4060) | (1.1)
F5-04-B-10 M8 x 40 Lg.
,,,,,,,,,,,,,,,,, 12 ,,@92, 22.2 11 L
14.5 |(.874) | (43)
F5-04-B-1090 (59) 5/16-18UNC x 1-3/4 Lg.
8.8 28
F5-06X-B-10 (346) s M8 x 45Lg. (4060)
48 65 | 22.2 | 476 30 | (59277 | 12 19 0.7
(F5-06-B-10 | 4 11.89) | 256) | (874 |87 11 |@18)| (1L0oD)| (47) | (75) |  MIOx4SLe ISONB-G30 | 0} (5
433 2030
F5-06-B-1090 (433 (1‘5"75) 3/8-16UNC x 1-3/4 Lg, (2030)
277 | 12 28
F5-08W-B-10 3/4 15 (109D (47) T (4060)
55 | 70 | 262 | 524 | 11 30 | (59 26 ' 0.9
(F5-08-B-10 | | @1n]@76)|d03n|2063)| (433) | (d18)| s | 4 |G SONB-G35 |, | 20
1.358)| (.55 2030
F5-08-B-1090 (1‘5‘-75) (1.358)) (:55) 3/8-16UNC x 1-3/4 Lg, (2030)
F5-10-B-10 1l 17 MI0x 55 Lg.
,,,,,,,,,,,,,,,,, Loia | 64 | 80 | 302 | 587 |[(433)) 38 | (67) 432 | 16 | 32 | U oo Npca 14 12
. 2.52) | (3.15) |(1.189)|(2.311 1.50 1.701)| (.63) | (1.26 b 2030 2.7
F5-10-B-1090 (2.52) | (3.15) |( )|( )12 [(1L50) ] 192 | )| (:63) | (1.26) 7/16-14UNC x 2-1/4 L. (2030) | (2.7)
(472) (.76)
17
F5-12-B-10 MI2x 55 Lg.
,,,,,,,,,,,,,,,,, Lip | 72 | 94 1357 1699 | 135 | 38 | (67) | 491 | 18 | 38 ~~~~~>1~~g~~~SO-NB-GSO 14 1.5
2.83) | (3.70) |(1.406)|(2.752)| (.531) | (1.50 1.933)| (71) | (1.50 2030 33
F5-12-B-1090 (2.83) | 3.70) (1.406)(2.752)) (:531) | (1.50) 16 (93D CTD A0 3uNe 214 Lg, @030) | G-
F5-16W-B-10 ( 1677) MI2x 55 Lg.
,,,,,,,,,,,,,,,,, 1-1/2 pezilo 49.1 18 48 b ———-|SO-NB-G60 21 1.8
F5-16W-B-1090 192 (1L933) (T A8 |y ) e 2141, (3050) | G-D
85 | 102 | 429 | 778 | 135 | 38 | (76) * &
3.35) | (4.02) |(1.689)|(3.063)| (.531) | (1.50
F5-16-B-10 (3:35) | (4.02) (1.689)|(3.063)) (:331) | (1.50) 1377 MI2x 55 Lg.
————————————————— 2 L (6T Shoel 2 | ooy [ -=-------|so-NB-Ges | 95 | 17
F5-16-B-1090 (1262) (24060) (79 12O 1 3UNC x 2-1/4 L. (1520 | 3.8
F5-20-B-10 17 MI2 x 65 Lg.
,,,,,,,,,,,,,,,,, oqp | 102 | 114 1508 | 889 | 135 | 48 | (67) | 770 | 22 | 63 | T NE (oo b s 7 2.0
(4.02) | (4.49) |(2.000)|(3.500)| (.531) | (1.89) | 218 |(3.035)| (.87) |(2.48) (1020) | (4.4)
F5-20-B-1090 (86) 1/2-13UNC x 2-3/4 Lg.
: L
F5-24-B-10 M16 x 55 Lg.
,,,,,,,,,,,,,,,,, 3 116 | 135 | 619 | 1064 | 175 | 38 | (67) | 900 | 25 | 76 | <& SONB.GS5 | 33 2.7
4.57) | (5.31) |(2.437)|(4.189)| (.689) | (1.50 3.543)| (.98) | (2.99 510 6.0
F5-24-B-1090 @371 G31) (2437)(4.189)) (689) | (1.50) s G349 @I 50 1 1uNC w214 L. Gl 60 0
- ()
F5-28-B-10 o MI6x 55 L. =
,,,,,,,,,,,,,,,,, a1 | 134 | 153 | 69.9 {1207 | 17.5 | 38 | (67) 11028 | 28 | 88 | T TTTE o on o 00l 35 34 o
(5.28) | (6.02) |(2.752)|(4.752)| (.689) | (1.50) | 192 |(4.047)| (1.10) | (3.46) (510) | (7.5) 17}
F5-28-B-1090 (76) 5/8-11UNC x 2-1/4 Lg. 7]
. (]
F5-32-B-10 7 MI6x 55Lg. o
,,,,,,,,,,,,,,,,, 4 150 | 162 | 77.8 |1302 | 17.5 | 38 | (O67) | 1155 | 31.5 | 101 | 77T oo n G5 35 3.7 <
(5.91) | (6.38) |(2.063)|(5.126)| (.689) | (1.50) | 192 |(4.547)| (1.24) | (3.98) (510) | (82)
F5-32-B-1090 (76) 5/8-11UNC x 2-1/4 Lg.
% Approx. mass is the value including socket head cap screws (4 Pcs.).

“F5” Series Pipe Flange Kits 827



828

YUREN

M Butt Welding
Japanese Standard "JIS" & European Design Standard : F5-%-C-10
N. American Design Standard : F5-%-C-1090

Customer’s
Mounting Surface
"J" Dia. Through D K
4 Places Surface should have
F N a good machined finish.
O-Ring
_ g I 97774
g =
[a] § |
w I =° g
e [ ) 7777
Ty =
| =
/Socket Head Cap Screw —jl'
(4 Pcs.)
Max. *
ipi Dimensions mm (Inches) Socket Head .| Approx.
Kit Numbers Plplng Cap Screw O-Ring i Mass
S Pressure ke (Ib
D E|  F | H | J|K|L|N|Q|S (4 Pes.) MPa (ps1)| k& (10s)
13
Fooaclo o | 40 |54 | 175 | 381 | 88 | 39 [(SD|17 [217 | 13 | M8x30Le. | SO.NB-P22| 28 0.25
F5.04-C-1090 (1.57)[(2.13)| (.689) |(1.500)|(.346)|(1.54) (145;_88) (67)] (85) | (5D g1 1 eUNCy 11 fLe (4060) | (.6)
16
FS%C]O 44 | 48 | 65 [ 222|476 | 11 | 41 [(63)]19 1272 19 | M10X35Lg ,,,,,, SO-NB-G30| .28 0.35
F5.06.C-1090 (1.89)[(2.56)| (.874) |(1.874)|(.433)|(1.61) (12,51) (75)|(1L0D)| (T5) | 50 UNC 112Le 4060) | (8)
16
FS-08-C-10 | | 55170 | 262 | 524 | 11 | 42 [(63)] 19 | 34 | 26 | MI0x35Le | SO.NB-G35| 28 0.45
F5.08.C-1090 (2.17)[(2.76)|(1.031)[(2.063)|(.433)|(1.65) (13,51) (79)|(139)|(L02)] 3o ve 1 e (4060) | (1.0)
F5-10-C-10 1 16 MI0 % 35 Le.
,,,,,,,,,,,,,,, 1-1/4| 64 | 80 | 302 | 587 [(433) 44 [(63))19 1427| 32 | " TTTF oo g gaol 28 0.63
F5-10-C-1090 (2.52)/(3.15)((1.189)(231D[ 12 [(1.73)[ 19.1 |(.75)|(1.68)|(1.26) 7116-14UNCx 1-12Lg. (4060) | (1.4)
(472) (.75)
18
F512C10 1jp| 72| 94 1357 1 699 13.5| 50 |(71)|22 486 38 | M12X40Lg 777777 SO.NB-Gso| .21 13
F5-12.C-1090 (2.83)[(3.70)|(1.406)|(2.752)|(.531)|(1.97) (12,31) (.87)|(1.91)|(1.50) 1/2-13UNCx 1-1/2Lg (3050) | (2.9)
18
F516C10 , | 85 | 102429 | 778 |13.5| 50 |(71)] 22 1605 | 51 | M12X40Lg 777777 SO.NB.Ges| 173 1.3
F5-16-C-1090 (3.35)((4.02)|(1.689)((3.063)|(.531)|(1.97) (12,31) (87)|238)20D)] |, SUNCx 1.1/2Lg, (2540) | (29
20
F5-20-C-10 1/p| 102 | 114 | 508 | 889 |13.5| 50 |(79)125 |763 | 63 | MiI2x45te | SO.NB.G75| 14 1.4
5.20-C-1090 (4.02)((4.49)|(2.000)((3.500)|(.531)|(1.97) (1375) (98)/(3.00) 248) |, s 1 ilg. (2030) | (3.1)

s Approx. mass is the value including socket head cap screws (4 Pcs.).

® Recommended Tightening Torque
For Socket Head Cap Screw

Tightening Torque
Kit Numbers | Recommendation Tolerance
Nm (IN.Ibs.)
F5-04-C 35 (310)
F5-06-C
F5-08-C 68.5 (660)
F5-10-C +10%
F5-12-C
F5-16-C 118 (1044)
F5-20-C

Note: The values of tightening torque above
apply to when these flanges are used for
pressure line.

“F5” Series Pipe Flange Kits




